


Notification
Dear Users,
Thank you for your purchase of ET 150 Electric Table. Please take time to read our 
user’s manual carefully before use. 
This guarantees you to make full use of this unit and prolongs the operation life of 
this unit.

Precautions
If you have detected abnormal heat, smoke, noise or smell, immediately stop using 
the product.
In the event of an abnormality, turn off the power and disconnect the power plug from 
the power socket. Continuing to use the product may result in electric shock or fire.

Observe the instructions given below regarding the power cable:

•     Be sure to use the supplied or specified power cable.
•     Do not modify, forcibly bend, kink or pull the power cable.
•     When disconnecting the power cable from the AC outlet, be sure to hold the cable 
       by the plug.
       Pulling the cable may cause wire breakage or shot circuit, resulting in fire or electric 
       shock.
•     Do not connect or disconnect the plug of the power cable to/from the AC outlet 
       using wet hands.
       Doing so may result in electric shock.
•     Do not touch the product with wet hands while the power cable is connected    
       to the AC outlet.
       Doing so may result in electric shock.
•     If the product will not be used for a long period, disconnect the power cable   
       from the power source. Leaving the cable connected to the power socket for    
       a prolonged period will consume electricity and may result in heating.



1.  Function Introduction
ET 150 Electric Table is made of imported materials and by up-todate technology 
overseas. It features with aesthetic appearence of outline, satisfactory performance
of manipulation, safety and credibility of operation; its load capacity can perform 55Kg
to the utmost. It also has the advantages of relocation simply and conveniently, sounding 
slightly, lifting steadily and with large amplitude (630mm - 820mm), etc., all of which 
make it a matching platform for laying various desk-top apparatus such as computer, 
medical treatment appliances, etc.

2.  Preparations
A.      Two foot-rests in package box with truckles should be installed on both sides of
          bottom of main machine respectively. Four M8 hexagonal socket screws should
          be twisted tightly by hexagonal wrench keystrode.

B.      The platform plate should be fastened by four M6 hexagonal socket screws 
          tightly with the main machine.

C.      Connect the plugs and main machine with the power respectively (please remark
          this machine mate 220V/110V)

3.  Accessories
M8 hexagonal socket screws
M8 hexagonal socket screws
M8. M6 hexagonal wrench keys
Drawer
Power cable

4 sets
4 pieces
1 piece, respectively
1 piece
1 piece

8 M Lift Switch

3



LUXVISION is not responsible or liable for indirect, special or consequential damages arising out of or in 

connection with the use or performance of the product or damages with respect to any economic loss, 

loss of property, loss of revenues or profits, loss of enjoyment or use, costs of removal or installation or 

other consequential damages of whatsoever nature. Some states do not allow the exclusion or limitation 

of incidental or consequential damages. Accordingly, the above limitation may not apply to you.

Every effort has been made to ensure the accuracy of this manual. However, LUXVISION, makes no 

warranties with respect to the documentation and disclaims any implied warranties of merchantability 

and fitness for a particular purpose. LUXVISION, Inc. shall not be liable for any errors or for incidental or 

consequential damages in connection with the furnishing, performance, or use of this manual or the examples 

herein. The information in this document is subject to change without notice.

4


